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‘When a monochromatic beam falls on a curved mirvor as
shown in the attached Figure;

‘What is the observed phenomenon?
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Chromatic aberration

Spherical aberration

Mirage

A mirror creates images of an object. The distance of the object from the mirror is x,,
and the distance of the image from the mirror is x;. The given graph shows the change
in image dimension with object distance. Using the chart:

What type of mirror is used? What is the value of the focal leagth of the mirror?
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Convex, 20 cm
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Q Convex Mirror gl 3141

Curved Mirror AT

Omar entered the Mirror House and saw a variety
of mirrors. While he was walking among these
mirrors, he saw his own image in one of them, and
its properties were “upright, roduced”,

What type of mirror is this?
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The speed of light in diamond is (1.24 x 10" m/s ).
What is the index of relraction of diamond?
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5 | Whenaver necesiary, use the following physical formulas. |
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A concave mirror has a radius of curvature of (20 cm ).
What is the focal length of this mircor?
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v I Whenever necessary, use the following physical formulas.
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The figure shows a light ray traveling from air to a
transparent medium.

Using the attached table; What is the transparvent
medium through which the light ray travels?
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o The image formed is wrong and should be
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‘When a pencil is placed in a cup containing water, the pencil |}
appears broken at the surface of the water, as in the lgure.
Whal is the nume of the ph that explains this
observation?
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In a school laboratory a student obtains a raster image
of a distant object (0) on a screen () using a concave
mirror (M) (o determine the focal length of the mirror.

Which of the following distances must be measured (o
oblain the focal lengih of the mirror?
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‘T'he focal length of concave mirrors
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Plane mirrors Concave mirrors Convex mirrors
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The adjacent figure shows a ray incident on a reflective surface.
What happens Lo a light ray when it falls on a reflective surface?
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Tt bounces off the reflective surface in the G elr G M alaa¥! f nStall ol o 3
direction it came from at an angle of 180° 1807wyl

Tt deflects its path slightly as it passcs the
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The Figure shows a light ray traveling from the air to a
transparent medium (A)and to another transparent medium (B),
at the same angle of incidence.

Which medium (4) or () has the speed of light greater?
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Speed of light does not depend on the
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An object at a distance ¥, is placed in front of two types of
curved mirrors, the focal length of each of which is [ (em),

the values are provided in the table. x,(cm) f(cm)
Which of the rows in the table will produce a virtual imageof =~ 10 -5 a
the ohject? | 2 =5 | B
a3 aa [ 5 T
Logen ST gl conadl g SN LT AT s g plal i e s g o 2 5 d

Lk el g § el cansiy f (€01)
Tndacnll Aullus Sgio Lo s gl 8 dpdall sl




